
3rd European Chess Solving Championship 

Pardubice, 14th – 15th July, 2007 

Round 1:  3 x #2  -  Time: 20 minutes 
 

NAME:  
 K  D  T  L  P  B 

              
COUNTRY:  

            

 
1. 

 

 

     

 2#  (7 + 10)       

        

2. 

 

      

 2#  (8 + 11)       

        

3. 

 

      

   

   

 2#  (10 + 13)       

   

 



3rd European Chess Solving Championship 

Pardubice, 14th – 15th July, 2007 

Round 2:  3 x #3  -  Time: 60 minutes 
 

NAME:  
 K  D  T  L  P  B 

              
COUNTRY:  

            

 
1. 

 

 

     

 3#  (6 + 5)       

        

2. 

 

      

 3#  (14 + 12)       

        

3. 

 

      

   

   

 3#  (12 + 10)       

   

 



3rd European Chess Solving Championship 

Pardubice, 14th – 15th July, 2007 

Round 3:  3 x Endgames  -  Time: 100 minutes 
 

NAME:  
 K  D  T  L  P  B 

              
COUNTRY:  

            

 
1. 

 

 

     

 + (3 + 5)       

        

2. 

 

      

 = (3 + 5)       

        

3. 

 

      

   

   

 = (6 + 5)       

   

 



3rd European Chess Solving Championship 

Pardubice, 14tt – 15th July, 2007 

Round 4:  3 x S#  -  Time: 50 minutes 
 

NAME:  
 K  D  T  L  P  B 

              
COUNTRY:  

            

 
1. 

 

 

     

 S#2  (9 + 14)       

        

2. 

 

      

 S#3  (12 + 14)       

        

3. 

 

      

   

   

 S#6 (9 + 13)       

   

 



3rd European Chess Solving Championship 

Pardubice, 14th – 15th July, 2007 

Round 5:  3 x #n  -  Time: 80 minutes 
 

NAME:  
 K  D  T  L  P  B 

              
COUNTRY:  

            

 
1. 

 

 

     

 4#  (10 + 13)       

        

2. 

 

      

 5#  (9 + 11)       

        

3. 

 

      

   

   

 6# (5 + 8)       

   

 



3rd European Chess Solving Championship 

Pardubice, 14th – 15th July, 2007 

Round 6:  3 x H#  -  Time: 50 minutes 
 

NAME:  
 K  D  T  L  P  B 

              
COUNTRY:  

            

 
1. 

 

 

     

 H#2 (7 + 6)       

 A/ Dia   B/ Td7 →d3       

 

2. 

 

      

 H#3 (4 + 9)       

 2 solutions       

 

3. 

 

      

 H#5 (3 + 8)       

2 solutions    

 


